10.

11.

12.

Multi-Step Equations Worksheet

. Solve: 3z +5 4+ 2x = 20.

Simplify and solve: 4(x + 3) — 2z = 14.

Combine like terms and solve: 6z — 2 +

dr = 25.
Solve using distribution: 5(2z—1) = 35.

Distribute and solve: 3(x +4) — 2(z —
3) = 18.

Solve: 7Tx — 3 = 2z + 12.
Solve: 8x + 5 = 3z + 20.
Solve: %l’ +4 =10.
Solve: 0.2x + 3.5 =5.7.

A number, when multiplied by 3 and
decreased by 5, equals 16. Find the

number.

The sum of three consecutive integers

is 54. Find the integers.

Solve and state the case: 2(x — 3) =
2 — 6.

13

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Solve and state the case: b5z + 10 =

5(x + 3).

Solve and verify: 4x + 7 = 2z + 15.
Solve and verify: 6(x — 2) = 12 + 4x.
Solve: 9x — 4 = bx + 12.

Solve: W = 6.

Simplify and solve: 2(3z — 1) — 2 = 9.
Solve: 7Tz + 2 — 4z = 14.

A number, when doubled and decreased

by 8, equals 24. Find the number.
Solve: 4z + 5 = 3x + 11.

Solve and simplify: 2(z+4)—3 = z+7.

S5r—2 __
=2y,

Solve:
Solve: 10z — 3 = 7x + 15.

Simplify and solve: 3(z — 2) + 4z = 18.



Solutions to Multi-Step Equations Worksheet

. 3r+5+2x =20
dr +5 =20

or =15

T =3.

Ax4+3) -2 =14
dr +12 -2x =14

2r+12=14
20 = 2
xr=1.

.6 — 2431 =25
9z —2 =25

9z =27

T =3.

. 5(2x—1)=35
10x — 5 =35
10x = 40
=4

3 +4)—2(x—-3)=18
3r+12 22 +6 =18
x4+ 18 =18

xz=0.

LT —3=22+12
dr —3 =12

or =15

T =3.

10.

11.

12.

13.

8¢ +5=3x+ 20
5+ 5 =20
S5z =15

r = 3.

S +4=10

2 __
&g
2¢ =18

r=09.

0.2z +3.5=5.7
0.2rx =2.2

r4+(x+1)+ (x+2) =54
3r+3 =054

3r =51

x = 17. Integers: 17, 18, 19.

2 —3)=22—-6
20 —6=2x—6

Infinite solutions.

S5z + 10 = 5(z + 3)
5+ 10 =5x + 15

No solution.



14.

15.

16.

17.

18.

19.

Ay +7 =22+ 15

20 +T7=15
2 = 8
x = 4. Verified.

6(r —2)=12+4x
6r — 12 =12 + 4x
2r — 12 =12

20 =24

x = 12. Verified.

9z —4 =5z + 12
4o —4 =12
dr = 16

r=4.

3(1:2) —6
3(r+2) =24
3r 46 =24
3z =18

r = 6.

2Bx—1)—2z=9

6r—2—x=9
5r—2=9

5r =11
r=41

5 -

Tx+2—4x =14
3r+2=14

20.

21.

22.

20— 8 =24
2x = 32
xr = 16.

4y +5 =3z + 11
r+5=11

r = 6.

2 +4)—3=z+7
20 4+8—-3=x+4+7
r+5=7

T = 2.

23. =

24.

25.

10z =3 =T+ 15

3r—3=15
3z = 18
x = 0.

3(x —2) + 4z =18
32 — 6+ 4z = 18

Tr —6 =18
Tr =24
r=%4
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